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KA — 1 N L B ZE (R B 3 IR LA
(a3 K.
(2)x= 0x11+1x15+2x23+3x28+4x18+5x5
11+15+23+28+18+5

~2(k).
B KRR Ay AT AR A N AL
BTy 2 IR,
28+18+5

( 3 )1500Xm:765(/\ )

2 AR AR AL 2 PR AR R BUAE 3 IR
(&3 R)MEAA 765 A

17 & (1)a=1-15%-25%-40%=20%.

0.5 /INIF ABCH 100x20%=20(A),

1 /F ABCR 100x40%=40( A ),

1.5 /M ABUR 100x25%=25( A,

2 /N ABICH 100x15%=15(A).

DAY T 5 KB AN s [
M OEEOR 1 /N
) 20x0.5+40x1+25x1.5+15x2

(2 100

(veg).

AR h ARSI INE B
SERR] S 1.475 /N

m.

18.f%.(1)25.

(ML 15

= 1.50x2+1.55x4+1.60x5+1.65x6+1.70x3 =161
~ 2+4+5+6+3 T
FEOATERX B, 1.65 HHEL T 6 1K, HiEL

AU Z

LA A EE I AR EIU: 1.65.

X AL E i NI R, Hoh b T
rp RN AEICER 2 1.60,

DS Btk S 250 1.60.

(3B ANEFE.

%541 8
2 ki
20.1.2 ALEFAAREL (2)
% 3IRm

=1.175

1A
2.1
35%.(1)15,15.

(2)#AE@EFi’gifﬂz:;—(J(5x8+10><14+15><20+

20x6+25x2)=13(7T),
FrLA 300x13=3900(7T.).
BB X K AE A 3900 TT.

4.2
20.2 HIBHERNIZE
% 118
1.C 2.C 3.1.6

457, %yibp:é—(6+7+7+8+6+8):7, Xz=
%(5+9+6+8+5+9)=7,

7 L sﬁ:els— [(6-7)%+2x(7-7)2+(8-7)%+

E3IW



